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Note .= (iy The maximum marks printed on the quesiion
paper are applicable for the candidates
registered with the School of Open Learning.
These marks will, however, be scaled down
proportionately in respect of the students of
regular colleges, at the time of posting of

awards for compilation of resull.

(ii) Answers may be written either in English or

in Hindi; but the sume medium should be used

8

throughout the paper.
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% yaw-gra o @ oy W= 81 [Fafia Gttt
F T 39 FAT T GATIHEE AR TaEHe
qAR FXd GG [EHAT T |
P.T.O.



673

2

(ii) 39 g¥%7-73 @1 Iow AN @ B=h fFE v W

¥ dfore; T @ I @7 AmEH TE & s
HIRT |

All guestions are compulsory.

All guestions of each Section (A, B and C)

should be attempted together.

W& g7 He & pE v (@, @ Sk T)

(i)

(i)

F aF FE & Gry- Ty & aiev

SECTION - A
(¥ =)

"Income of previous year is chargeable 1o
tax in the immediately following assessment
vear.” Is there any exception to this rule?
Discuss. (3)

Government of the Egypt appoints A, an Indian
citizen. as senior taxation officer. He leaves
India. for the first time. on September 1. 2011
for joining his duties in Egypt. During the
previous year 2012-13, he comes to India on
November 2, 2012 for 200 days. Determine the
residential status of A for the assessment vears
2012-13 and 2013-14. {5)
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(i) Mr. C. a resident of India, aged 61 years derives
Rs. 8,00,000 from the business of growing and
manufacturing tea during the previous year
2011-12. His income from other sources is
Rs. 4,060,000, Compute his tax liability assuming
that he contributed Rs. 80.000 towards public

provident fund during the previous year.  (5)
OR

{a) How would vou determine the residential status
of a company ? Can a company be “not ordinarily

resident”™ in India ? {3)

(b) For the assessment year 2012-13. X is not
ordinarily resident in India. From the information
given below. find out his income chargeable to tax
for the assessment vear 2012-13:

Rs.

(i) Royalty received by him outside India from

the Government of India. 1,600,000

(i} Technical fees received from A Ltd.
(an Indian company) in Germany for design

given by him in respect of a project sitvated
in lran. 2.00.000

P.T.0.
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(iii) Income from a business situated in Sri
Lanka (goods are seld in Sri Lanka, sale
considerations is received there but business
is controlled from India). 3.00,000

(iv) Capital gain on sale of a house situated in
Pune but sale consideration is received in
China. 4.00.000

(v} Salary received in Thailand for rendering

services in Karnataka. 100,000

(5}

(¢) A person may not have assessable income but
mav still be an assessee under Section2 (7).
[Tlustrate how, (5

() ' ™ A 3 SF wwEEEs Hur o Fow-
ward 2 g @ Faw @ wiE svae 2 7 fEEe
FifAT |

(i) for & T&R vF 9RGE TWR® A & R woue
st frged w21 98 faw ¥ s wmive
e & forg el A | faew 2011 ) uwRa @
i # qd ad 2012-13 & W T/ 2 AR, 2012
w200 9 & fow wma amr 21 i =6 2012

13 3 2013-14 & fog Je=t Parg witufy iR
it |
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(iii} wRa-FEd 61 odfa ff C wd ad 2011-12 & Zr=
=ra I v e e  whEr ¥ 2 8,00,000
M w B 1 I Bl W I 3@ T 4,00,000 3t
7 AR 5 39w ad @ ke A ik @R
A 780,000 =1 FPRW frar @, INET & IqH HI

Al Tt |
Fraan

(@) ™ A weR = fHada wiafa @ e e o
FA 7 F HE SO AR R W ARG R wE
2wt 2 7

(@) Frftor & 2012-13 = Bw X 9wa & FWE R W
s =& 20 AR S o goen @ P ad 2002-13
# fog = & fow 3uat ywd s oA Sife

(i) 387 9T WFR & 9RF ¥ 98¢ T 1.00,000 wF=

o il

(i) =9 ¥ forg vw uRden & fog Se& g e g
fierea @ e 39 A A Lid. (T R F )
T IeR ® ' W ¥2,00.000 wrw fEwa

(i) e ¥ fiog FNER | I (W siida § ow

Wi @ Pt B ?) 7 3,00,000
P.T.O.
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(iv) 70 ¥ Bom w1 R R gam GO e,
(frg fowm wiwe 99 ¥ W= g30)  4,00,000

(v) Ffe % & wE dwei @ fw aee ¥ ure
SN 2 1.00,000

(n)aﬁ%mﬁaﬁuﬁam?ﬁﬁmﬁmz(n%mﬁa
frffd & @e@ 21 JeEw ¥ g @wmsy & fEE

THR 7

SECTION - B
(s @)

2. (a) Determine the taxable value of the perquisites in
the hands of Mr. Y. an employee of D Ltd. in the

following cases :

(i) Y. on November 27, 2011 attended a seminar
on “Curporate Tax Planning™ at the desire of
the empiover. Seminar fees of Rs. 10.000 is
paid by [0 Ltd.

(i) His son is a student of ninth ¢lass of DAV
School. Delhi. Rs. 18.000 being tuttion fees
is paid by D Ltd. There is no tie up

arrangemen! between [ Ltd. and DAV
School. Delhi.
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(ii)) Y is given an interest free housing loan of
Rs. 15.00,000 by D Ltd on June 1, 2011 to be

repaid after the expiry of 5 years (SBI lending
rate is 8.73% on April 1, 2011).

() Y purchased following assets from his

employer on Japnuary 1, 2012

Asset soid Car Computer Fridge
Cost of the asset

to employer Rs. 7,00.000  Rs. 1,00,000 Rs. 40,000
Date of purchase May 13, May 15, May 15,
{put to use on 2009 2009 2008
the same dayv)

Sale price Rs. 3,00,000  Rs.30.000  Rs. 9.000

(v) Tree food served 10 Y in the office for 300
days @ Rs. 70/meal. (10)

(b) D is entitled to a basic salary of Rs. 40,000 p.m.
and dearness allowance of Rs. 20,000 p.m., 40%
of which forms part of retirement benefits. He is
also entitled to HRA of Rs. 20.000 p.m. Though
he is posted at Gurgaon, vet he occupied rental
accommodation in Delhi for which he paid @
Rs. 20,000 p.m. Campute the taxable amount of

[IRA. (35)*

OR

P.T.O.
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(a) Discuss briefly the provisions of Income Tax
relating to valuation of rent free accommodation,
(3)

(b) X-a resident, physically handicapped person
furnishes the following particulars of his
remuneration for the previous year 2011-12 from

Y Ltd. where he is employed as Marketing

Manager :
Rs./p.m.

Basic Salary 35,000
Dearness allowance (50% forming

part of the salary for future

retirement benefits) 20,000
Children education allowance

(for ane child) 300
Entertainment allowance 500

He is entitled to Maruti Esteem car for official
and personal work on which company is incurring
an expenditure of Rs. 30.000. His employer paid
Rs. 1.300 towards his professional tax to the State
Government. He deposited Rs. 50.000 in his PPF

account. Compute his net income for the

Assessment Year 2012413, (10)

(%) Ffofaa fafedl D Lid. & v F9=0 it Y = el
TRl @ F¢ avm Tew filia @fe
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{i} ¥ X s P 3 Twer W 27 Tew 20611 W
P e S T ove wmedt o R
Z (0.000 =1 WSt Few D Lid. 3R fear @

(7) Sv T ek W D n A wEE R wa WO
3| ¥ 8,000 5 e -Tew D o, B0 W A
3 DL @R Sud wmw R % AW A
Fedu wmael w8 )

(i} DLid &Y 3§, 200 & % 13,00,000 F
sr R R 5 af weE B
2 9 THW T W () e 2011 i WRAT ®E

¥ & =mU- B.I5% )

(i} ¥ A st e | wER 2012 W el
2] EGIQR:”:" ﬁ?féf .

Frdgrad 1 WREATE
wa F e
(=& B wam
i A W)

faga =wd

700000 7100000  T40,000
13,58 15,9 15, 7%
2009 2009 2008

¥ 3,00,000 T 30,000 7 9,000

PT.O
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{(v) 300 for wfem § Y =t Fryeew Wiow et faea
T - i |/ qem 2700

(@) D 740.000 W T a9 T2 T 20,000 WlAF wEME

o #1 BHer 2, e 40% Jatafty ygiansy @ s
BN | T % 20,000 WE fEFT T w1 S weER
Taft a7 ae ¥ Fgew 2, qufd 3ad Reh ¥ RBwe
w | e gan 2, fms T @' 720,000 wiew
form 2 2 « e B v 9 - e ofd afveRe
FifAT |

Jreran

() R A7 e & A | Halid sraet & gude

1 ASY R Sifm

(@) Fwam =, vw el X T Y Ld, ¥ R - ueus

7 H Fafm @ 9 ol af 2011412 % wew witsfie
® ¥ Feeiaa = e

% /3

T g7 ’ 35.000
REME WA (50% W gl

wRNA % B 3 W owm 2) 20,000

Fw F1 foen @ fg s
(& = F forg) 300

AT W= 500
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98w a o o # v el YHT @R @
FFER B o W el o 750,000 | amn 2 SEE
faer & 5 wER W 3ES I w B T 1,500
F A B IE o e sl B e ¥
250,000 v fRg o fFefor ad 2012-13 @ Re geEt
e Ha yhmlaa Hifaw

R furnishes the following particulars in respect of
a house property owned by him in Delhi.

Rs.
Municipal value 3.00.000
Standard Rent 3.05.000
Municipal Taxes paid 40.000
Period of oceupation for own residence 3 months
Actual rent for 9 months & Rs. 33000 3.15.000

lfe borrowed Rs. 20.00.000 @ 12% p.a. from LIC
Housimg finance on June 1. 2009 and the house
property got completed on February 28, 20t1.
Compute his income from house property for the

assessment year 2012-13. (10)

Under what circumstances are the gifts of
money received by a person included in his

income ? (5)

P.T.O.
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OR

(a) Discuss briefly the provisions of Section 43-B
regarding certain expenditure allowed on actual

pasment basis only. (5}

(by Discuss briefly the provisivns relating to
determination of tncome from self-occupied house
property. (3)

(c) Distinguish between short-term capital gain and

tong-term capital gain, 03

(F) R 3 B ¥ 59 =iHs o 7 AT ® an
frafafaa = e &

ke
AR e 3.00.000
AFF [F 3.05.000
Her FIROiEET w 30.000
¥ fem & R wged s@El 3w

OWENR F7 ? 35,0009 =¥ R = law fEmr 3.15.000

FEF 1 T 2009 ®ouA g A smEwmm BEow 12%
afeF F W W T20.00,000 IER TR AR TE
watd 28 @y 2011 ¥ FHe don w1 Fuwm ad
2012-13 & foy e w9 A el e sl
Eaicig
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(w) faw R 2 G =fs w ws us-gn SeE
T R wike faen s 27

A

(F) 9= TafEE gEm ¥ R W A FH o
® ar A uw 43-B B IuEw W wEm ¥ e
EATT )

(@) = - sftrfas @ Fofa & s & Fafo & =0 SwEed
= e A faay iy

(@) e §9 e s Sfefe 4R a2
T e T FRT

SECTION - C
(¥R 1)

4. {2y rransfers o gesidential house properiy
situated at Kolkata on December 1. 2001} {sale
consideration @ Rs. 3000000, stamp duix vafue -
Rs. 33.00.000. ¢xpenses on ransfer: Rs. 40.000).
This property was purchased oa fane 30, 1992 for

5. 200000 (wn addition Q paid stamp duty at the
rate 01 (0% o siamp duly satue of Ry, 2.40.30010.
To zvail of the exempiion under section 34, he

deposits Rs. 13.00.000 1n capital gain deposi

PO,
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account scheme on July 20. 2012, Subsequently,
he purchases a house property on June 20, 2013
for Rs. 13.00,000 (investment is flinanced by
withdrawing {ram deposit account). Fiad out the

following ;

(i) Capital gain chargeable to tax for different

assessment vears,

(i Q does not want to purchase or construct
another property. what is the earliest date
when he can withdraw the unutilized amount

from the deposit account: and

(ifiy Is it possible to rake back the cxemption
given under section 34 in a subsequent vear ?
(Note: Cost inflation index for FY: 1992-93:
223 and 2011-12; 785) (10)

(b) Discuss bricfly the presumptive scheme of
compuiation of profit and gains of the business of
plving. hiring or leasing goods carriages [Section
44 AR (3)

OR

Protit and loss account of X Co. [a firm of X. Y and
Z which satisfies all conditions of sections 184 and
40(b}] for the sear ending March 31, 2012 is as

follows :
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Rs. Rs.
Cost of goods sold | 47.90.000 | Sales 66.00,000
Remuneration to Rent of house
partners property (half
X 6.00.000 | portion) 50.000
Y 9.00.000 | Interest on
Z 55.000 | debentures (pon
income Tax 8000 | trade investment) 60,000
Interest to partners
a 15.5%
X 40.000
Y 10.000
7 60.000
Municipal tax of
liouse property
{(entire property) 5.000
‘Other CXPCNSEs 2.40.000
Net profit | 32,000 .
: 1 ;
4 67.10.000 | 67.10.000

Other information :

iy Qut of other expenses. Rs. 48.500 is not

deductible under sections 36. 37(1) and 43B.

P.T.0.
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(ity On January 15, 2012, the firm payvs an
cutstanding sales tax hability of Rs. 2,922 of
the previous year 2008-09. it has not been

debited to the aforesaid profit and loss account.
(iii) 7 is not a working partner.

(iv) The firm owns a house. the ground [loor is
used for business purposes. and the first floor
1s given on rent. Municipal tax is paid on May

(0.2012,

Find out the net income of the firm (and tax treatment
of the payments to partners in their hand) for the

assessment vear 2012-13, (15)

(F) Q! fwar 2011 =t Fiwwm ¥ fum sy 75 w9k
F1FAO FT 2 (REw wRee T 30.00.000. T
T = % 35.00.000. FRO R =g T 40.000) 1 Fara
30 SF.1992 % 2200000 ¥ @R W R (3@
FAREF Q A ¥ 240,000 T - T W 10%
W TP -TEF W OYEE R ow) | oum 54 @
W@gmwwﬁa}?ﬁvwﬁzow,zmz
4 e S mm A ¥ 2 15.00,000 s
FAC L @E H 20 9T, 2013 W IFX T 13,00,000 ¥ v
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Te gal wid (Few = f= 9w 5o | @ e
g T ) | fremfafes s Sl

(i) fafr frufo oo @ R = & forg owd I
sl

(i) Q =% = @i @Wlem sria A A& AW 2,
qg qE I o1 § 9 a8 9 @ 8 e

A W W wX ;e w, 3R
(i) @ wrEEed ad ¥ ouw sS4 @ st @ v ogr
Fi ag == ANg E
(A e Ty e e ad 1992493 1223
T 2011-12: 785)
(@) AR T, B W A T W I @ SR
e AT e FOUEeT aree @ wem A
g FIfT 1 (U 49 AE)

aar

3o 2012 F w90 F B N Co. (U 184 3R
J0(hy o R TR W g w A X Y. Z H U R

o - BT SR 3 WS 2

P.T.0.
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3 Z
faeits wa &t @ | 47.90.000 | FA 66.00.000
WER] @ TE "
st fermar (amm
X 6.00,000 | ur) 50,000
Y 9,00,000 | 7o w= ® fyam
7 55,000 | (R -=mafies
KIBETS 8,000 | framm) 60.000
13.5% & =W W
srllerl & =Id ‘
X 40,000
Y 10.000
7 60.000
Tegaf =1 TR
w (T @A) 5.000 |
I =y 2.10.000
g T 32.000
67.10.000 67.10.000
H LA

(i) a2 =@l ¥ ¥ 748,500 4@ 36.37(1) 3R 43B &

(i) 15 SFaE@, 2012 =1 & 3 79 af 2008-09 & T 2.922
 yed fas R W o e R 38 I
R o H AW A wren T
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(i) 7 |fFa wEer FH X

(iv)*ﬁﬁwwﬁwﬁ%,ﬁwwmﬁuﬁﬁ
3 forg waea A 2 AR e A9 R W R g
3| mrenfE @ w10 wE 2002 ¥ e fEm

T

fufrr =d 2012-13 & B owd F TE I
(ﬁﬁwn‘ﬁ-cﬁaﬁfﬁégmﬁmaﬂﬁmm)m
Ea

5. (a) Discuss briefly the provisions relating to set off
and carry forward of non-speculative business

losses. (3
(b) Discuss in brief the significance of the judgement
delivered by the Supreme Court in case of CIT

vs. Raja Benoy Kumar Sahas Roy (19373 (5}

(c) When an individual is assessable in respect of

remuneration derived by his'her spouse ? (3
OR

(a) When an individual is assessable in respect of

income of his.her minor child ? (3)

(b What are the conditions subject to which one is
cligible to claim deduction in respect of medical
insurance premium under section 80D ? Also state

the maximum deductible amount. (3

P.T.O.
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(¢) “lLoss under a head of income can be set off against
wcome under any other head of income in the
saume assessment year.” Is there any ¢xception 10

this rule ? Discuss. (3)
(a)ﬁ?-mmﬁﬁigﬁﬁfﬁwﬁhmﬁmﬁm
ol 98T ¥ e itag |
(@) GmEd s=m s foea FAR HEE WA (1957) & AF
ﬁmmmﬁﬁmﬁﬁaéwmﬁéﬁﬁ
o Fhav |
(1| T TR /T weR Wit & i i ot o
i g B 2
3rerE
() e w2 A D e W s @ ol
(a)ﬁémﬁa%ﬂﬁaﬁﬁﬁmsobém R
Sen SR & B ST W oo w5 3 B s B
%7
(w]‘m%wﬁﬁ%mmﬁaﬁm%ﬁﬁ
g WY ® A 3dr Fuie wd # wRfE e .
gFa 2w = BEw @ @R amEe g 7 REad
HITAT |

{12,000)



